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MATHEMATICS.ilI
(Common to EEE, ECE, EIE, ETM)

Time: 3 Hours Max. Marks: 75

::,, r::Iel'' il;;;i::il'ilJ.1,::ilH?fi'.:J;J,iT*"?3-:1,,wer al, luu,oio,, in part A , ,,r ,

Part B consists of 5 Units. Answer any one full question from each unit.
Each question carries l0 marks and may have a, b, c as sub questions.

PART. A
,'.'"'.: i.'..: i','.'_: ." : ' {25 MaikS) 'l

La) Findtheparticularintegl'al ol,t'/t,'-or:'-I0r,= r:. lr;- r/'t - '1t'

b) Find the indicial equation of xr.1, " - 2n" - (.1r - 2 ).i = 0. [31
I

.. ..., ,ll Prove that J.rr'trl * =:., ,. : : : : L2l
,,r., ,:'.'.-.;:';,. :"'; ijl. i.','.:':":".. i'.",, i':". , .':,'1".. , .,,,', t : :r.

d) Prove that -/, (0) = 0. t3l
e) Find the value of 'a' if cosax sinhy is harmonic. L2)

0 Find the analytic function whose real part is xy. t3l

- Gr E:^J +L^ -^^i-r,,^ ^ 
2z -3

: ..b): Find the residue of z ; &l z = -lr. 12)

Ih) Expand --1- tySsp lzl>: as Laurent series. t3 j)- z

i) Prove that w:C+z where C is a complex constant is conformal at all points.

t2)
--i

J ) Find the lixecl poinrs ol' :- 
-:' 

13]l+iz 'l

PART-B
(50 Marks)

',li?1.

. 'z: '',

:';1ieY

b)

5.a)

; ',i,bJ

OR

t10l

... . i.,.

[5+5]

Solve the differential equation in series

Express..xl'"* x+l in tertii :.eif Legendre

Prove th:";+G" J ,,@))=' x'J,,-r(x).
ax

OR
Prove that (2n+ l).rP, (x) = (iz +l)P,,,(,r) + (n)4,,,(r) .

Provetha!iortr=[:i),,,",i[1_1],.,..,.

(l-xt )*-Z*L+2t.-0around x = 0.' dx' ds

,)
Solve the,Qi.fferential equation i ''., ! -,

.i dx-

, 1;+5i



'(x sin Y-)' cos Y).

t5+sl

7.e)
' ,)

= +l/'iz)i-

:

Evaluate

9. Evaluate

Find the image of lz - 3il =3 un6"t the mappin g *=;
OR

l1.a) Find the image of the region bounded by the lines x = 1,! = l, x * y = I

t:""-t transformation w : Z2 . : .,"', i"-.:'': :"': i'"':
; ;''b) Find the"bilihear mappiri[*liicrr maps the.pdints z = - , i"ii'ihio 0' i, - .

Is+51

urrder the

tS+51

---ooOoo---

6.a)

; :.
t.,.t ,b)

t{-r('ltJ trJ

il0l
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ll0l


